FINAL REVIEW
Calculations 2

Lasser Lollipops, Inc.
Adjusted Trial Balance

December 31, 2012

Accounts Debit Credit
Cash 3000
Accounts Receivable 4500
Inventory 750
Delivery Truck 2550
Accumulated Depreciation 2000
Accounts Payable 1200
Unearned Revenue 700
T.J. Dunning, Capital 4000
T.J. Dunning, Drawings ; 600
Net Sales 8500
Cost of Goods Sold 3950
Selling Expense 1050
Administrative Expense 700

17100 16400

Using the Information from the adjusted trial balance shown above, compute the following
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y ) . Accounting :
S _Revxew for Final Exam
Me'th_ods of Depreciation'

o .,.A dehvery van with an estimated life of § years was acquired on June 1, 2004 for
_ $22 000 Estunated resndual value of the van is $4,000,

a. Determine the a'mount of depreclatlon in year 1 usmg the stralght-lme method' and
ﬂyear convention
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a What 1s the baok value of the van after the third year of deprecxatlon?

y ', ZZ@O@ ~ l 800 - 2600 — 000 _ 13000
: | - 4v) c\}ea,n:) (\-{Zaﬁ)
o Now assime that 200% declining-balance method is used What s the -
3 depreciation in year one? . R
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0 What is the depreciation in years 2 and 3 using 200% declining-balance method?
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a What s the book value of the van after 2 years using the above method? ' %



